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1. @) Apersonal accidentpolicyiis deemei to'be: a”bmmﬁt policyandnot 12

an indemnity one. Examine: the ‘above statement: thoroughly, also

giving examples.

b)  What areithe: spactdl‘rﬁ&mmstnﬁagmupz‘l?ersamlzmcxdentpolicy. 4
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2. ‘Mention the exclusions-appearing in'Mediclaim:policy. _12
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3. Describe the various types of. commcrctal deehty guarantee Insurance 12
policies available: in'the:market.
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Write short notes on any three of the following:- . "4 each
. a) Sports insurance

b) Proportional Treaty reinsurance

¢) Duplicate Key clause

d) Good feature discount in poultry insurance

e) Exclusions under Domiciliary Hospitalisation cover
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a) Indicate the cover proVi'ded under the various sectio_ns of the Bankers 8
Blanket Insurance policy. - ‘
b) Explain the 'excess’ provisions under the above policy. : 4
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An Insurancevcompany has asked a Surveyo'r.to prepare an Inspection 12

report for Burglary Business premises risk to decide regarding underwriting
of the risk. State the particulars which the inspection report will contain.
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Explain the types of policies available under commercial Fidelity 12
Guarantee insurance. : ’
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Anall Risk policy does not ﬁtéraﬂymeanso._ Examinethe statement giving 12
examples. :
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A Personal Accident policy has been issued for a cover inclusive of
weekly benefits, for a Sum Insured of Rs, 1,00,000: The cumulative
bonus there under is 15%. The insured is involved in an Accident
which results in his total disability for period of 8 weeks. What is the
amount of claim payable? '

A 25% Burglary first loss policy has been issued for a sum insured of
Rs.1.25 crores. A oss of Rs. 6,00,000 (six lacs) occurs there under.
It was however found that the total value of property at risk just before
the loss was Rs. 3.75 crores. What is the amount of claim payable?
Money policy is issued for 12 months with per carrying limit Rs, 10
lacs and the estimated annual carrying turnover of Rs.1.5 crores. In
the 10" month of policy a loss occurs of Rs.15 lacs during transit
from.the Bank to the Insured’s office. It was due a hold-up. It was

- however noted that in the first nine months of the policy the insured
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had a transit turnover of Rs.2 crores. Examine the admisibility of the
claim and quantum thereof; if payable. .
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10. Explain the following in respect of Cattle Insurance -

a),
b)
©)
d)

4

Meaning of word Cattle.
Insurance coverage
Permanent Total disability -
Four common exclusions.
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